Get out your homework and have it ready to check.

Classwork - Solving and Graphing Inequalities
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2) Solve and graph the following inequalitics. Remember the rule we discussed above. SHOW WORK
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Warm Up
1) Graph the following inequalities to show what values x could possibly be. Show at least 5 #s on the number

line.
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2) Is 6 a possible solution for x in the inequalities below? (YES or NO) Show vour work to prove vour answer.
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3) Solve and graph the following inequalities. Remember, when multiplving or dividing bv a negative
number to must flip the inequality svmbol SHOW WOERK
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